ENGLISH

1. Choose the sentence that correctly uses 3 Modal of

]
B You must finish your homework before Playin, hngatior\.
(B) You cg an ng.

(©) You m:
(D) You m 'ght finish your homework before playing

finish your homework before Playing,
Y finish your homework before p'aying
Which worg - .
t
' fo, completes the sentence ?
ot
(A)  Wow MY homework at homej»

(B)
PR 0 oueh ‘-
Choose the sentencg . (D)

at Hooray
he is the be Ses
(A) S St danc cer), ‘article’ c°rrECtly

(B) Sheisan bestdancer, ooy " the ¢lass.
M She is a best dancer in th Class,

Sl assg,
(D) Sheis bestdancer in the ¢4,

TR

4. Identify the sentence with the correct preposition

m He will arrive at 5 o'clock. (B) . He arrived at the evening

(C) She leaves in Monday. (D) We meetons o'clock.

5. Choose the sentence in the past perfect tense :
(A) He will go to school. T '
(B) Ieat breakfast every day.
~{C)- She had finished her homework before dlnner

(D) We are eating lunch now.

6. Identify the sentence that contains a spelling error.
n.
(A) The athlete showed remarkable resilience throughout the competitio

la
\Bﬂ Our teacher encourages us to pursue extracurricu

sistance.
(C) The committee will accomodate all valid requests for 3 |
ampaign.

. SC
(D) She narticinated in the pnwronmental awarenes gt

r activities.
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Identi
7. fy the sentence that uses an adverb of degree correctly.

A) Sheij g
(A) € Is too tired to continue. (B) He ran extremely fastly.

C) The y ;
( Y are running quite slow. The movie was very more interesting-
1.2Y

‘(ll:?atTdoes the idiom "break the ice” mean ?
O .
shatter ice (B) To start a conversation

\“(C)\ To break something (D) To argue

Choose the correct preposition for the sentence :

The catis hiding___ the couch.
(A) at (B) into (C) over \(t{) under

which sentence below uses both an affirmative and a negative clause ?
(A) Helis not going to the park, but she is going.

(B~ Ididn’t eat breakfast, and I am not hungry.

(C) She was late to school, and she did miss the bus.

(D) They are going to the game, and they are excited.

10.

Choose the correct option to complete the sentence :

johnand ________ went to the park.
(A) me (B) him U4 I (D) her

11.

: 12 Which sentence uses an abstract noun incorrectly ?

(A) His kindness towards animals made him well-loved.

(B) She felt a deep sadness when her friend moved away.

(C) The teacher praised the student's intelligence in solving the puzzle.

m The honesty of the wall was evident in its strong build.

13. Which of the following is a common noun ?

Latika and Manju saw Saima at the park. |
(A) Latika (B) Saima (C) Manju ) Park

beans“ mean in the following sentence : ?

14. What does the idiom "spill the
he surprlse party for his friend.

Aryan accidentally spilled the beans about t
(A) Aryan knocked over the beans.
~(B) Aryan ruined the party decorations.

M Aryan revealed the secret about the party.

(D) Aryan made a mess at the party.

35G-INH-F-24/U/ F006/C
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choose the correct sentence that uses a comparative adjective.
15. ‘@‘F The rabbit is faster than the turtle.

(B) This is the most fluffy dog in the park.
(C) Sheis happiest of all.
(D) The sky is darkest than yesterday.

16. Choose the correct article to complete the sentence -
There is elephant in the zoo.

AL a (B) an (€) the

17. Which sentence correctly uses a neuter
(A) The teacher welcomed all the girls 5

(B) The lion roared loudly, and the Jion
(C) The nurse took care of both the pa
<{DJ~The chair was placed next to the t5

(D) that
gender noyp, >
nd boys tg Class,
€ss joined hjm,
tient ang the doctor,
ble in the room.

18. Which sentence correctly l;:es a pronoun »
(A) He gave the book to L. i
(B) She told we about the meeting.
~{c} The teacher spoke to him after class,
(D) They invited she to the party.

19. In the following sentence, what type of noun IS the underlined word 2
The team of players visited the Qeautifful City of Paris.

(A) Proper noun ~ (B) Abstract noun
\I‘&\Collective noun (D) Common noun
20. Choose the correct adverb of manner to complete the sentence :
The girl sang in the choir. .
(A) loud ™B), loudly (C) sing (D) song

. " - = H e :
T. Convert the following compound sentence into passive \mlm:t i e
The teacher explained the lesson, and the students comple

d by
iqnment was complete
“(A)~The teacher was explaining the lesson, and the assign
students. h assignmentwi!l be complete

(B)  The lesson has been explained by the teacher, and the 4

the students. nd the students had comp

. a

(C) The lesson was explained by the teacher. - esdl

assignment.

. ment was €0
the assignm
D) The lesson was explained by the teacher, L R e

BT
students. ‘///
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1 in which sentence is the adverb of frequency used incorrectly ?
(A) She rarely misses her morning walk, even in winter.

(B) They occasionally meet up on weekends to study.

(c) Hevisits his grandparents aimost weekly on Thursdays.

_; -TBJ\ I finish my homework hardly before dinner each day.

you at the library tomorrow," said jJohn.

(A) John said he will meet me at the library tomorrow.

(8) John said that he would meet .me at the library the next day.
(€) John said he would meet me at the library tomorrow.

‘(m\ John said he will meet me at the library the following day.

54, Which word best expresses ability in this sentence ?

Jane______ swim very well.

\OE'L can (B) might (C) -:Shl;'JU.|d \ (D)

Choose the sentence in the present Eoﬁgihuou_s tense :
(A) She will play the piano. iiap by
(B) He played soccer yesterday:.
\{{L They are playing in thg garden. .
(D) Ihad eaten lunch.

Choose the correct negative sentence to complete the dialogue :
"Did you finish your homework ?" asked the teacher. "No, I

(A) did finish my homework. (B) do my homework.
(O~ didn’t finish my homework. (D) finished my homework.

27. Which of the following is a proper noun ?

Lucy and her dog Max went to the beach last weekend.
L \W\ Dog (B) Beach () Max (D)

| which of the following is the correct reported speech form of the sentence : "1 will meet

must

Weekend

SG-INH-F-24/U/ F006/C
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28. Choose the correct verp to com

e plete the sentence :

to the store yesterday.

(A) |
run (B) running \m\ - (D) runs

Choose t s
he correct feminine noun to complete the sentence:

The ki
king and the attended the royal ceremony together.
(A)  Actor }BK Queen (C) Prince (D) Lord

29,

30. Which sentence correctly uses a conjunction to show a cause-and-effect relationship’
(A)  Iwill wait here until you come back.
MShe went to bed because she was tired.
(C) He can stay at home or go to the party.
(D) We went shopping, and then we had lunch.

31. Convert the following sentence into reported speech & -

x5 "I will see you tomorrow," said Lucy.
’ (A) Lucy said that she will see me tomorrow.

\?B7\Lucy said that she would see me the next day.
(C) Lucy said she see me tomorrow.

(D) Lucy said she would seeing me the next day.

32. Which sentence correctly uses the present perfect tense ?
(A) She has finished her homework just now.
(B) They have been to the museum three times this month.
€y~ Iam working on my project since morning.

(D) He will have completed his task by the evening.

33. Choose the correct conjunction to complete the sentence:

She wanted to go to the park, it started to rain.

A~ but (B) or (C) so

35G-INH-F-24/U/ FO0s/C
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| The chef baked 5 2
| B~ A Cake was by
(B) Acake is bakj
(C)  The chef was

C

Voice -
ake, ce:

ked by the chef.
Ng by the chef,

baked p

Y the

(D) The cake baked the chef e
35. Choose the Correct interjection."

(A) Ouch —!'1didn't expect to see you here!
) Wow (C) Alas (py ohno

. Read the s ‘
36 entence and choose the correct option that contains only nouns -

aj and his si i
Raj his sister saima went to the park to play football.

5 i :
(A) Raj, went, Saima JBﬂ/ sister, Saima, park

(C) play, park, football (D) - went, Raj, football

37. Which adjective best completes the sentence ?

(A) Big \(‘B\ Fluffy (C) Quickly (D) Ran
33. Which sentence is correct ? ‘\’L " il

(B) Heswimmed inthe pool.

(A) She runned to the store.
(D) Theygoneto the park.

) Iwrote a letter tomy friend.

39. Convert the following into reported speech:
| ameer.

1 apn doing my homework," said S k
/('tf/‘lISameer <aid that he was doing his homework.
| er said that he is doing his homework.

Sameer said that he did his homework.

D) Sameer said thatI1am doing my

Same

homework.

ct noun to complete the sentence .
ra

t during the battle.
orsshowe P ok ) Sword (D) Strength

Scanned with ACE Scanner


Unic
Highlight

Unic
Highlight

Unic
Highlight

Unic
Highlight

Unic
Highlight

Unic
Highlight

Unic
Highlight


pirections (41-45) : Read the paragraph below and answer the questions that foljow

preventing the sprea.cl of malaria requires a multi-pronged approach due tq ¢pq mosquito.
borne nature of the disease. First, the use of insecticide-treated bed nets anqg indoor spraying i
of insecticides helps reduce mosquito bites, especially at night. Ensuring proper drainage andfj
eliminating stagnant water sources, where mosquitoes breed, is crucial, Public health :f
‘education on early diagnosis and treatment plays a vital role in reducing trangpcio ;
Additionally, antimalarial drugs, and promoting the use of protective clothing in mogq ;0 |
prone areas can protect high-risk populations. These measures a-rii-' essential to cyyy the
disease’s spread, reduce mortality, and protect vulnerable communities from jts devas

effects.

tating

1

" as used in the passage is

41. The closest synonym for "vulnerable ==
weak (D) important

(A) healthy (B) strong
42. Why is it important to eliminate stagnant water when preventing malaria ?
(A) to provide clean drinking water
\(B')\ because mosquitoes breed in stagnant water
(C) to reduce water pollution

(D) because it attracts other insects:

43. Public health education is important because to prevent malaria.

(A) it spreads awareness

~(B)__ it reduces mosquitoes
(C) it allows more medicines

(D) it controls spreading mosquitoes

44. We can prevent mosquito bites at night by

“TA). wearing warm clothes.
(B) using insecticide-treated bed nets.

(C) spraying water in the room.
(D) keeping lights on all night.

. . . " . I sin
45. Eliminating stagnant water is considered an important step because it help

(A) reducing the number of new mosquitoes.

(B) keeping the water clean for drinking.
16 reducing the bad smells and air borne diseases.

(D) preventing other water-related diseases. T e

315G INH-F-24/U/ FO06/C
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=
ce, Pas
once, a f:row and 3 e Sage beloy, aha folloW: d
hung-ry Jackal geg; e F Who Were answer the questions tha* sty a"
deceive the deg, a O trick i Yoog friends i <t ONe day- was to
free meal. T d eat h; eer + Ved happily in a fores” s pl joy 2
B he deer realizj o ejacka|.|He Pretended to be friendly: PU* ping ©° en]‘:uad
eagerly, waiting ¢. . n ed the g A tc
f ew eer int ter’s trap a
told the deer 9 Tor his chanc .. trapped, tried Aih MU i ejack? " ip. HE
to play g 0 eat, Th to escape but coul e n
as the trap openegq thead_ W e h;; © Crow, seeing his friend in trouP!® e trap- -
angry and hungy, o deerquicklyiur: 161 saw the ‘dead" deer, he l00se"® e jackd e e
friends. *4Nd the deer ang cr L b and escaped with the croW: not trus g fals
oW learned an important lesson abot
46. The jackal’s trye
ue :
Intentions were to
(A)  befriend the deer
- : (B)  protect the deer
eat the deer
Eb')\ hunt with the deer
47. What can we infer about the crow and deer’s friendship ?
(A) based ontrustandloyalty ~ \B) for the crow’s reward
(C) driven by fear (D) built on deception
48. Who advised the deer on how to escape the trap ?
D) Thedeer
(A) The jackal '\(B\The BB ., (Q 2 TRENUNE e D). 18
dead because ______
49. The crow suggested the deer to pretend to be de
B) it could help the deer to escape.
(A) it will loosen the trap. (D) the jackal would help.
d the hunter.
(C) thecrow feare
m for ugcheming” in the story 1S
50. The closest synony , _
(}’\ olanning (c) dreaming (D) forgetting
(A) honest | Page |9
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ST 1 SR vremfiyes st /GENERAL KNOWLEDGE ANy

CURRENT AFFAIRS ‘
amsifRa
51. ﬁwﬁﬁaﬁﬂﬁmwmﬂqﬁﬁqaﬁaﬂmmaim(ﬁﬂﬂ‘ﬁmﬁ) - ﬁ'_m"'f“_%?
Lo o dfgey
o T - T Sty af erge 2o sRar
III. &re
ﬁ&qwmﬂﬂﬁﬁmmmaﬁ: it
(A) aﬁﬁ'L Ila'ﬁ?III (B) ehaet 11, II\IaﬁqIV
() Fawmeiriv (D) @aer L, 1I

Which of the following Indian Movies has/have
any category) ?

L Three Idiots A0 '
11 Lagaan - Once Upon a time In India
III.  Dangal

IV. Salaam Bombay - Wbk
Select the correct option from the codes given ciad
(A) OnlyI, 11 &I (B) OnlyIL1I

(C) OnlyII&IV \EQ Only I, I &IV

52. WIRA & g1 G oAl HAA B AT ?

(A) ARG oRATY] FHolf 22
(B)  FreTaper wRATy Foit A
(C) TR uzamy) Fherf R
(D) @m wReTYy it e
Which is the largest nuclear power plant in India ?

~fA} Tarapur Atomic Power Station

(B) Kudankulam Nuclear Power Plant
(C)  Narora Atomic Power Station

(D) Kaiga Nuclear Power Plant

13. "m"fam%mﬁ@quﬁ.?

been nominated for an Oscyy aWwayg i

b b |

", (B)  geefiara () arafifs (o) @
The “Ramayana” was written by :

i lidesd |

“_(A) Vyasa (B) Tulsidas T&k Valmiki (D) ga: >
INH-F-24/U/ F006/C e o
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55.

3.

7.

(A) gt
Which planet js (B) sy
I'Iow (
(A)  Earth T 135 the "Req © Ty o) *
(B) Planet" 2
Mars
e fafx Lipttat o) satv
) aferefeh St
i ®) 22 s | |
Which date is des; | . (C) 1vmad o) 2 i
gnated as Inter
( June 21 : national Yoga Day ?
B) Apri
pnl 22 (C} January‘l (D) S ptember
=TS &7 oyl

et o e FNE ?

(A)  TI&T SRS ot agr

(C)  ifires Tt e Theret St TR A R

What is the primary purpose of drip irrigation ?
TAY~ To increase soil erosion

(B) Toreduce water consumption -

(C) Toimprove crop yield through overwatering

(D) To eliminate pests

e A € 7
e aﬁq-aqﬂaﬁﬁq‘rﬂfﬁm’m@ﬂmﬂ o -
ofaat (€)
N i ' 3 sing touch ?
- yolved in €N 2
Which plant structuré is invo
Q) Tendrils (D) Stems

5G.INH-F-24/U/ FO

(A) Roots (B) Leaves
P a g e 11
06/C \
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M AR e, sizar ok AR #u ggg / Cell
(B) &g & / Mysore Palace -
(C) Reefar 8w / victoria Palace
(D)  Agrrg R / Mehrangarh Fort

ular Jail, Andaman & Nicobar Islangs

39. 2014 & deiwrr & anfReies o e a2 wrew & fvaT At o ?
(A) i (B) st waer
(C) aftemrg (D) siifesm |
From which larger state Telangana was officially formed in 2014 ? i
(A) Karnataka - 4By Andhra Pradesh i
(C) Tamil Nadu (D) Odisha
’#ﬁmﬂmﬁlﬁa'mhaﬁmﬁa@aﬁﬁaeﬂ?ﬂqma? _
(A) =g (B) 7. (C) sirefemr (D) e
‘North Sea Rosebank field" is the largest new oil and gas initiative of which country?
(A) Russia B) UK (C) Australia (D) Canada N
o (iimgﬁwg;mmmmwlfmmmwmmmw
(©) st seeliigbiy
(D) &8 e

What was the name of the hurrica
United States in 2024 ?

(A)  Hurricane Fiona (B)
| (C) Hurricane Helene
SG-INH-F-24/y/ Fooe/c

Hurricane Ian
{'QL Hurricane Dorian

Scanned with ACE Scanner


Unic
Highlight

Unic
Highlight

Unic
Highlight

Unic
Highlight


A=y &
801, St 5t 1ot & e amercer 3y reor g 2 ¢

(A) &= £
A common S w
( Diarrh YMPLom of Hepatitis A, cause(: )b satbhiss (D) wn T
oea (B) Coughin Y a virus from contaminated water :
" g (C) Loss of appetite (D) Skin rash
. g U e wdfag?
B): el (C) e frw i
T:e Durjand Fup is associated with ? o (o] o
(A) Swimming < \(ﬁl Football (C) TableTennis (D) Hockey
6. Prafaf@adda= wmmﬂmmﬁaﬁmav
(A) offe (B) €U (c) e (D) @
Which of the following is the largest trib\!:lommunity in India ?
(A) Bhils (B) Santhals Gonds (D) Todas
?
) PmAafadmAEA T E bt Sitgbe af““"“i"‘%
(A) SRt T e o)
(C) ada LA harvesting particularly important d
In)which of the followind regions is Wat<" y inipottant due o tow
rainfall 7 ! Desert regions
(A) Tropical rainforest regions (D) Mountainous regions
{("-.) CO&SM Page |13
GANH.F-24/U/ F006/C
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68. ﬁaﬂﬂaw(waﬁ)a?rqa;mﬁﬁamw

(A) Q=7 TTaE o sl T
(B) affyes wrifey iR gram F=mg T& Tl
(C) anfefes ufdsier T

(D) iegpfaes we ot dgrar ol

i i anizatio
What i f the primary goals of the United Nations Org n (UNO)-_,
atisoneo e

(A) To promote military alliances
?BJ\ To maintain global peace and security

(C) To create economic sanctions

(D) To promote cultural dominance

69. wigaw e § wruRor gu1 A YRS FTE ?

(A) & el w Fofa &1
(B)  anfdfes fiferat et vaier e
(C)  argeh smredt it v ety
(D) et o st e e 7e¥ o orere, e ofik R ae

What i
at s the role of the Genera| Assembly in the United Nations ?

(A) Deciding on military actions

() Managing economic policies 1

(C) Overseeing legal matters
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as Nuclear
e S g
L RS - Rt gy
I e -Res
M. &0 - g sy
V. HISl-®ie

L.
1I. Crow —'Chick

. Deer- Fawn—f<
V. Horse - Foal X

| A, I (B) I

Choose the i@‘igct pair
Bat - Kitten é'

(C) I (_D) v

et 7 o < "I S A yf" el I e ?

- (B) T R
EA; A Lttt (D) TS -
C " i ing SUI'I" ?
) < called the "Land of RIS |
In India, which state IS cane Arunachal Pradesh
(A)  Sikkim | (D) Nagaland
(C) Assam
iy, WA A FREA 8§ 2
e R T (D) e e
Frafaf@a § @& & (C) amwed Ly e
R (B) World Heritage site located in Agra, India ?
(A) Pad is a UNECO ). Taj Mahal (D) Red Fort

Which of tfle(fouowmg) Hampi Page |1

(A) Qutub Minar '
§G-INH-F-24/U/ F006/C
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74. ﬁﬂﬁﬁaﬁﬁﬁﬂi'aﬂmmﬁﬂ“'ﬁm
(B) q%a'm@ﬂaﬁq agéi 1

(A)  gET FER =eT

AT Hred
(C) Hﬁaiiﬁ&'trmé () eeron Ka Kaisa Ho Basant’ 7

e

Who among the following is known to comP"s' \akhanial chaturvedi

(A) Subhadra Kumari Chauhan 18) Par_‘dlt madhaVv Muktibodh

(C) Harishankar parsai (D) Gajanat

-
75. W*Wﬁ_f“‘a‘:’ﬁﬁl © o (D) 6=y
4 1

(A) 39 (B) _ ro

The elections for Lok Sabha are held eveg jrs (D) 6years

(A) 3years m 4 years c =¥

AU ?
e aréf a IR

76. zmzoz!s.31131’\'i!l*f'fﬂzﬁlﬁ"‘i!"""ﬁ © kR (D) =ded

St arge

ty's candidate in the 2020 U.S. Presidential Electigy; 1

(A) SHEEH (8)
Who was the Democratic Par

Id Trump (B) Joe Biden (c) Hillary Clinton (D)  Bernie Sander %

Donald Tru R i |

7. ﬁnﬁﬁaﬁammmﬂawaﬂﬂqﬁﬁaﬁﬂﬁmgmgv E
(A) AR () Rt T |
(c) s (D) FRES -

st th

Which Indian state among
countries ?

Loy sikkim -
(C) Uttarakhand

! B
(8) Himachal Pradesh
(D) Jharkhand &<

78. zozsﬁsﬁaﬁaﬁmmﬂmmﬁq&mwmmwm?

(A) g : g At gthae (B) THETS ahf&aTaTS!

(C) &RugI WeERIg (D) STRIRIR ]
Which movie won the Best Feature Film award at the 69th Nationa! it
2023 ? |

(A) Rocketry : The Nambi Effect (B) Gangubai Kathiawad!

(C) Sarpatta Parambarai \DL -RRR

BEL TRTIET T A AINTI T nn - oo
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TR E? T O
(A) gf® s
: (B)
Wileh sevie jy ost g o
humans ? ‘*\'ﬁrlqpe(i :
(A) Sight
(B) Hearing
TH Sepea 3

(C) Sahitya i
) ty AkademlAward_ (D) National Film Award

; : a2
1999 ﬁﬂmmﬁu’fﬂmﬂmaﬁgﬂ: T 2 3 forg ey @ e arfeyar TG TS
IR I (B)  Sifmer fam
(C) SITIRRA Augg B e
: ) istani
Which military operations were conducted to recapture the Kargil sector from Pakista

intruders in 1999 ? _
B Operation Vijay

(D) Operation Pawan

(A) Operation Parakram

(C) Operation Meghdoot

'I'Eﬁﬁ!ﬁﬁﬁ'ahﬁh'ﬁﬁiﬁmg ?

& . - .

). e i fthe m ovie ‘The Fabelmans’, which was seen in the news ?
| Who is the director © George Lucas |
[(A) steven Spielberd (0) Quentin Tarantino |

: e Page |17
(C) Martin Scorses ge |

o

Eﬂ-r:i‘ixw F006/C
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Hetarer \
87.
! RREEES
2 e '{
3 qHTSt
4 o t
Choose the corre—ct_n;a_tzﬁ_:____:______ﬂF____df_#Tffﬁ’ 88.
ol ol . |
Abbreviation e __S_t_"‘fffff'____ﬂ,_f
1 BSNL e _I Cost To The Company
2 CTC . 11
3 FMCG Il - ._
4 PDS == e Iv | Fast Moving Consumer GOods ;9
1 —II,Z-I,3-IV,4—III
(A)  1-1,2-11,3-L4-IVE oy _(
(C) 1-IL2-V,3- 4T3 () 1-V2L3IAT |
i ?
84. zoz4aﬁqaﬂaﬁaﬁqgumﬁﬁmmﬁﬂﬁgﬁﬁmgﬁﬁz\:.. ;
(A) 25 ez Yftrs e foRest () 50 X et 3 U |
(C) 10 iR TR fozeat (D) ﬁﬁ@ﬁqt{mw |
At which event did Manu Bhaker win a historic bronze medal in the Zﬁli.sg
Olympics ? .
(A) 25 m Rapid Fire Pistol (B) 50 m Rifle 3 Positions
(€) 10 m Air Pistol (D) Mixed Team Air Rifle

85. mdt &Y i et A R Ty Tdeen gl & ot fafve el F s FA A wE A E?
How many smelling receptors do humans have in their nasal cavities thatI;'
differentiate different odours ? |
(A) 200 NB) 300 (C) 400 (D) 500

86. mﬂmﬁwammzﬁmmmﬁmmm%?
((g)) ﬁwﬁﬁmmﬁ,mwammmwﬁmeme'
amfﬂammm%,aﬁzﬁmmaﬁmaﬁﬁﬁﬁamﬁl
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(€) TRy (‘ga‘ﬁ &
which organizat; ) %{m
(A) UNESCO ation has launcheq th(D) %w&m
W
(c) Wildlife consewation oy . B) '-“tllr:::coum 2024" project ?
India
. mﬂ q9 Coc | g T BirdLife International
ki o " TR e 4 2
(C) B)
which of the followin (D) wg
ngist b
(A) Padma Vibhushap he highest Civilian award in India 2
(C) Padma Shri (B) Padma Bhushan

R, A, Sy | Bharat Ratna

" r r n W 2

4 : -a(B) i ey
gqgiaRur :

(C) &RuT o

The term "Reduce, Reuse, Recycle” represent :
(A) Sustainable consumption Economic growth
(C) Environmental degradation - (D) Socialequality

, smﬁaﬁﬁﬂaﬂﬂmﬁaﬂm%? g :
(o) SiRTEE Afgen Raw (B) waRmw
(€) e afeERo Raw (D) anforem Reaw

gth 7 ?

(;?h day do we celebrate on March

International Women's Day (B) Mother's Day

(C) Women's Empowerment Day - (D) Girl Chnd Day

Syl e
* i%rquna s areh ugeht wiee SefiEar
mﬁﬂiﬁmﬂﬁﬁmﬂﬂgﬂﬁﬁ
; . Stz ‘
i Wuaﬁq nEjDic);late to run for president from a major u.S. politica
ale ca

Who was the first fem |
party ? m{ sarah Palin

' | - inton
; ‘((12\ Kamala :3\"' ralfren'u (D) Hillary Clin
1 Elizabet

e qa?
e e 581 © % RN
y URE anfearEt (8) gure pelon ged to which tribal community ?
(A e ¢ tribal jeader: /,0/ vundas (D) Gonds

E .. u
Blrsa Munda: a famo(B) Saﬂthals Pa ge \19
. (A) Bhils

B-INH-F_24/U/ F006/C
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93.

(
(
(

Port Blair is the capital of which Union T
(A)  Mumbai
(B) Puducherry

o R e S anfRra e B AU & 2
(A) HeE

[ e |

B) Ug=d
C) amew iR R gaeh qen an AR &

D) Jizmm 3k RNaER 419 TF

erritory ?

ar Haveli and Daman and Diu

(C) Dadraand Nag |
B} Andaman and Nicobar Islands

04, %Wmﬁmmmﬂmwm%?

95.

%. FrRflm 4 & @ ar e we T /% 2 |
L mmmﬂﬁuﬁﬁﬁ;ﬂ.ﬁmﬁaﬂzmﬁmwﬂﬁﬂﬁﬁa,wmmmm

IL. aﬂl%anﬂ‘aﬂvné:q&ﬁﬁusﬁamffmﬂmmaﬂ?ﬂgﬂ;&iﬂmaﬁmﬁa%smiﬁ?

(A) wERTE (B) USRI (C) sifsam (D) Aoy,

Which Indian state has the largest population of tribal communities 2

(A) Maharashtra  (B) ~ Gujarat 5 i }Q‘)s Madhya Prageg,
quT s iﬁﬂaﬁmmﬁﬁqzonﬁwwﬂmﬁahm‘

(A) wrfee (B) famm afR thenfirehr

(C)  wmfoies @ (D) uafeRor TRemwr

Sudha Murthy was awarded the Padma Bhushan in 2023 for her contrip,,
of :

(A) Literature (B) Science and Technology
Social Work (D) Environmental Conservation

tionsjp thef

mﬁmfﬁa%mm

- fafor ;I}GIT Rf¥g 3 wamar um) R
W'E' ' ﬁl wavom SItheT Tt o1 gfagra &t amwaimaﬂa,ﬁmm
micéaﬂ: : B2 sl (@) Fawm (D) a1
: Ho the following statements is/are not True ?
. awag ' = |
monunl':/leanfla‘:waorbtl'!e Palace of Winds made with pink and red sandstorf
L Kohark s built by Maharaja Sawai Pratap Singh ""
. nark S :
G Sury:nt;:r:ﬁle In Odisha was built in the 13th century and dedicated
L. Rock-cyt E'| h e Was commissioned by King Narasimha
el €phanta Cay T :
( during the British Perio:s that trace their history back to the mid-6th cen
land 1 '
G-INH-F-24/y; F006/C > —h
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(€)
Who WOR the Nobej p,, o Ty
c i .
Q)I\"ahr;::ri ?r lJl-'D'"’“i"“_:le % | Oz; fo% omen
a OUSafzai an rlgh r their fi ion O
t ght a ressi
(c) Greta Thunbergh (B)s i gainst the opp

Angela Me
fkelﬁ

zoz4ﬂ‘ﬁ?=rfam@;ﬂeﬁnﬁma
A . R R et gy “‘“mmhw,

(B) aﬁa;mﬁ@sm
(€) ”ﬁmwﬁﬁ?waﬁm%%

98.

ﬁg\ p.V. Sindhu and Neeraj Chop Bl A
(B) Satwik Sairaj Ranki Reddy and Ch@g Shetty
() Manika Batra and Bajrang Puma S

(D) Rani Rampal and Dutee Chand ' g

9. 2024aamgaaerga;a?fm=mgmﬁ!aaaq§7 :
| (B) @RI emM

(A)  aTT _
() vafa g (D) TELEAE 7
Who is the current Secretary-General of the Umted Nations as ;0f 20247 ;
(A) Ban Ki-moon Kofi Annan . i
(C) Antdnio Guterres - o (D) BOMKEOSBOUIGIFRTSH
' ﬁmaﬂ gy # ¥
L R &l wefias,
100, mﬂmﬂ?ﬁ?mﬂﬁmﬁaw ﬂgh
() iR, rEd 9 arcfa s
B) S, rifr MREHET
5 it :ﬁT g " m the Lion-'CapitaIIOf Ashoka, symbolizes :
(D) =g, Sr@Sl L of In dla' dapted fro
The National Emble™ 4 Confidence

\Q power, Courage Hr;rmon)’-
B) Love, Peace: 2™ o uality |

E] _
an

(C) Unity, Freedom™ and ReSPect Page |21
D) Justice, mtegrt)’

'r"'l\“ L a4 !f L“'"ﬁ/c
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?

’ INTELLIGENCE

¢, D5F. G&I_,jj_‘ll_..msu_o__ ?

sj@rT muasmfaﬁ\ﬁtt{ :A2
§ n r_}%s - A2C, D5F, G8I, J11L,

101. o on ok
. t term in the gi vl

Find the ne:\ A (C) M1I3N (D) M14aN |

(A) P17R ;

ﬁ;manat%,aﬁmlmﬂﬂfammilwmﬁm%

102. e PfRy e s & RA) 1 29
R faran s ? )
e language, and GITA IS coded as 37. How w; Ary,

*  RAJis coded as 29 in a certain cod
1 in that language ?
coded g ol 12

(9 54 (B) 49
v Gﬂz “Q o u
“GARDEN" @ “105268" 3 wua & v e & RASS” 3} “15¢

68", and “GRASS” is writ

(C) 52

103. wen AR Fe W H,
w=u & fore wiar &1 &t “SEND” &

In a certain code language, “GARDEN"
#4503%". Then “SEND” will be written as:
(C) 3826 (D) 5263

3682 () 3382\
s

is written as “105

104. ag ez Ta dhforg sit DISTRIBUTION eé% arerdl & Tl FITAT ST Hehell g1
ters of the word DISTRIBUTION

Find the word which cannot be made from the
(A) Button (B) Dust\}\ Tribute (D) Disturbﬂ

105. 2 fag g fereat & & doits fRwea gfg:
Find the “odd one” out of the options given below :
(A) ACDE (8) FH (© KMNO (%, Pars

106. ?miﬂaﬁ?smmﬂgq, TR 3 g, Ik e AR aren & senelta O &, smean o g
(A) =& (B) g (C) = (D) ¥&

Pointing to Vihaan, Aadhaya said, His father is the only son of my grandfath

Aadhaya related to Vihaan ?
(C) Mother (D) Daughter

AL Sister (B) Brother
A 25 ®) 6 &
3SG-INH-F-24/0/ Foggc /C
AN
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109. ﬁ'ﬂlﬁ'@aﬁﬂ.%m (©) 1996 /('(
Which of.the follgi: Qreh - i
ot Wutg Clemen, iy 2
St T-2¢" Ould ¢ et
() V22 ? e
v2s =
© wo
10. IREA F F afa, G 5 outhing
a’maﬂ?m@a'ﬁ ) m-\'%ﬁzl .{aﬁ
TR E1 (3) atfirg o e ST M 2t e i g e 81 (2) 31
aﬂﬁnﬁaﬁaéﬁl LR mﬂﬁr&haﬂ?mmm(ﬂﬁmmﬁm
foreke,
Out of four f o b i
riends, A : it
mit, Bob, Jack and David (1) Amit and Bob playfootball a“:fi::ball.

(2) Bob and Jack.P_lay cricket and hockey. (3) ﬁ_rgjg‘;n.a David play basketball K‘?.
(4) jack and David Play hockey and basketball. ¢ o 47)
2 SOl
£ J

Who plays Cricket, basketball and hockey ? ?{ y Q g
}W\JaCk | (B) David, ; (C) Amit Q) (D) Bob
(. Ga e AT F, af% F = 6, MAT = 34, DOG = o s
In a code language, if F = 6, MAT =34, then DOG = ﬁﬂ
(&) 26 Q’/(D) 25
(A) 22 (B) 24
| ﬁmaﬂaﬂmmmmﬁ
gy & .
ol i ?;):ﬁ © @ (D) st
(A) arl ord from the given alternative
Select the related P ?
.. Rain * :
ion : MasK *° brell D) Acid
Pollution : Ma* (g) Cloud \(s)\ PR (D) Aci

() _ Page |2
006/C

--INH-F-24/U/ F
&
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/

Pen, Pencil, Eraser
(A) Shop

Teaching (py” statione® ¢
35G-INH.F “24/U/ Foo6/C ' g;

3. o e wiaforer area a7 g e R T

114,

16.

Inacertain code language ‘PILLOW' is written as ‘WOLLIP’, ‘CHAIR’ is written as Rll

¥) South-West (B) West \& K 3 Ly~ '\r)-‘k

ﬁzﬁqﬁaﬂ‘g"m%ﬁ T Ay
ra I

ah (D) E"Fﬂﬁf .
&, SR, ey, () Gm;.r‘ave to cho0s€ aword from the ang,
(A) ST (B) m:{wordS is given: you
A group of three interrelate .
set that belongs to the same group ) (D) TR‘__“;‘%&
Banana, Grape, Orang®: gy - " /Le)/ﬂéi‘g-
(A) Potato 7~ (B) ©n==
(D) G=IhI
e = ggE | (c) T
(A) omaa (B) Y )@/A » (D) Pentagon
. n

Find the odd Iorn'-: out(B) B g
(A) Rectangle q:é 4

3, o fE S (D) =@
ﬂﬁa’ﬂ'\'ﬂﬁ“ﬁm & (C) IR

(a) coaga (B mes South-West and so on, then

If North becomes West.
hbecome : North (D) South

3

North-West beco

W
L

A &7 aref -, B@r 3ref +, .

(T 6 () 0 (€) 2 ©) s g
If A means -, B means +, C means + and D means x, then18 B3C24A12D2=? d
6 (B) 0 [€) 2 (D) None of these %\

117. va Rf3d Fits W & ‘PILLOW’ &t ‘WOLLIP’, ‘CHAIR’ &t ‘RIAHC’ foran wiman &, &t TABI.I
férer weprR foreaT sqam il

’4 ‘:

then ‘TABLE’ will be written as : % \jgfq‘ﬁ
(A) ABTLE /LB‘)/ ELBAT (C) ELATB (D) BATLE
118. war F i WoL OV {
e e g e &, ROt s 7 g e 21 ﬁqwhwﬁwwﬁlﬂ*ﬁ?
(4)
Threegiz:rds are gi w1 (€ Ruggor (D) R
" ;
themselyes. Choosg “:m " the question Which have something in commort
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121.

/(40/ Brother-in-law (B) Paternal Uncle (C) Paternal Cousin (D) Brother

122.

123.

124.

VI

B)  Peng
- Py P Eraser (D) Paper

h R g 5*'%?\ A
© bogj is (B) Wy %ﬁqm ¥ P vy 2, I
What js Codeq Phnii (C) i g 2
Usefy t ncil, Penci) is '
(A) BOOk 0 N Aper > Cod as Eraser Eraser i(D) dm:ﬁf the pook. Then
* : S coded as

(A) ﬁﬁwglﬁ*“%ﬁ%@%émmawmﬁﬁm“
i (B) = (©) = v (0)

Sara is the wife of Harry. George and Peter are brothers. George is the brother akHarg:
How is Peter related to Sara ?

N
20 A
g TQ Reel § @ Hefa sem e A HY: 18 16 :: 241 2 | \%S
Select the related number from the given alternative : 1?_{:5 ( :)24 ; 2 &
D
W s ® 7 8 G=—="*
cofig-aronf+d @1543x4+2-3=7
2 a1ef -, + 1 3 "
ﬂﬁ+aﬂaﬂf+, x Bk +mean5xand-—means+,then 1%{3:"_4*2-3'?
If + means + x mea ): . © 8 7 (D) -3
(A) 5 f
: ,a i %mmtm' ﬂ‘ﬂ'ﬂﬁa%l
' \ et gER T "ﬁm" € @ (D)
(B) < the same way ‘Desert’ is related to
ted tO } sand (D) Wind
‘Ocean’ is rela (8) plant
Page |28
) W
/
_;HE‘"'F -'24/ U/ F006 ..... SRR AT = 1.1
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Ry waTh A-aremm
125. ¥a, MW, anfe, oftw, g, g, arger o STl mmg'ﬁwﬁmgl Gﬂﬂ%&na,tl

onfre A Bler & A e @ ciar &1 e ghar @ ot & AR -

o et & s @ ﬁmﬁmﬂmﬁimﬂwquﬁ |
I Q@ R wad s A 2

(A) Q@ (B) anfeer (c) aH

Devesh, Gautam, Aditya, Om, Chandra, Harish,

who have a different height. Devesh is shorter than

. ; s shor
is taller than Harish but shorter than Chandra. Om i

as Atul.
A t as tall
tul. Chandra is shorter than Gautam. Gautam is no 115

(C) Gautam

o I:.’
(})/ Devesh (B) Aditya',
MAIMe?
126. mmﬁ@mﬁuaaﬁmwﬂmaaﬂ?mm G
How many N's are there in the following series whic
and also immediately followed by M ?

MM@'@W‘ENMNFEN.@M(@\Q@M“ / :

(A) 2 (B) 3 . >
i

-~

_5?127. refafaT @t ardfe o9 8 aafed e : ,
(1) e (2) e (3) SR (4) SR (5) Re® 0

Arrange the following in a meaningful sequence :
(1) Consultation (2) Iliness (3) Doctor (4) Treatment (5) Recovery
(A) (2),(3).(1),(4), (5) ‘/(‘5((:)& (3), (4), (1), (5)
(@ (3).(2).01). @), (5)\ (D) (1), (2),(3), (4), (5)
\ 9 {
128. arrgfar & et Bragor & 2 \/ éf \/ \)
}(\-xf\

How many triangles are in the figure ?

35G-INH-F-24/y/ F0o06/C

(D) =T

atul, and Janvi are eight g, |
aditya but taller than Gautam.h:-:. _
ter than Devesh but tajg, ¥

; t among them ?
Who is the second talles g ~ (D) Chandra

T ——

h are immediately prée Ge d bﬂ

Pr_

o
l
V'

\
C

\
j
\
V"
/—

(0] 1%,

A

e'fi“:.

b
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131.

132.

133.

_)&)/S
— — 7 enn6/C

. i i H : ?
S
/LE’)/out}: West (C) South (D) SouthE / E i

45313*@'@*&111?3:@&

Vihaanra nked 9* from the
in the class ? L
- -'ﬁ ww

SRR TN T B SR R——— g™ S
top in a class of 45 students. What is his rank fromthe &? L

i o )'({ = e ?g:?%’mn
e

e sraft e & Far & 89 ofik 1 @ 303 = W 21 SER Fen d e v § 2 357
Nobita ranks 8" from the top and 39*" from the bottom in his class. How many St“de“t*:'ﬁ

are there in his class ? \—’/*’\f

A) 45 g R I P
( )B—)/ e ?ﬁ&ﬁ’?/l
mﬁéqa{ﬁ?mzﬁaﬁé.a’mﬂﬁﬁwﬁﬂ%ﬁaﬁﬂmﬂqm? g
(C) #eER (D) AR !1{—5
(A) TUaR (B) TEAR :
d fter tomorrow is sunday, then what is the day before yesterday ?
A day a

(C) Tuesday (D) Friday

wednesday (B) Thursday ji
( srgl®
*’ ‘735‘*Wﬂﬂ'ﬂﬁamﬂma' ‘she has moreiiﬁ'g"

«rive me more’ @t S '
Mmmﬂfﬁ give ?aﬂ'\v‘sheaSkEdmegenﬂy F'6 3 21" & & § wifza frar wm g\
1 wq AR TN C s 3 e v v e 2
et areT & "give’ & m‘ . is coded 3@5‘, ‘she has is coded as 31’

rtain Janguage gwe' coded as CEAR Which of the following is coded for ‘give’
Inace tly’ is
and ‘she asked gggeny =\ —

? 7

in that languag® i 8 (C) (D) 9 i
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E e ]

135. ORI FQ e
i, aita, o afie 2R (1) 3T T oo et
fordhe - 140.
3R BT derd 1 (3) o ofe AT AT 0. ©
et derd §1
Feate, areheat ofi gih) @ @ear 8 7 (o) I b ]
q © 2@ popplay footballange, |
(A (B) & . (1) Amit 2" pasketball
Out of four friends, Amit, Bob Jack and pavid. it and'Da"id phay and foqy “
(2) Bob a:; ;;Ep_!;;y ::i}k,ei and h“kii'::;;:r 1 o
a )
(4) Jack and David play hockeY o t:aockey ? (D) Jack q‘
Who plays fosthall, basketball and MC’ 1
(A)  Amit (8) Bob _;gi
. . a;a-eﬁaﬂﬂﬁ Landenthe English 142,
136. srdcfavfmrer ALSME 200 L exact middle petween & glish Alpy, 142
Find the letter that c© o B
—— 8) Q (©)
qerdt afares A e g
% it R o v 1 T B & _ :
137. v feed &1 97 ples the mirror image of the given
Choose the alternative that closely resem
combination. [ V ™

MALAYALAM ¥ - YIYAVIVIN (4) MATAYATAY
(1) MALAYALAM (2) MAJAYALAM (3) W @) AN b

(A (1) (B) (2) _/LQ/(B)' (D) (4

138. aIf@ra qﬁmmal g TR TR & I T 8, it g & 2, 3fR T AR W 3§
e e fgee § war gt 2, oftr i amdt T 2| v fpa Randg?
(A) ud (B) ufg# (C) I (D) =fam
Akshit wants to go to the school. He starts from his home, which is in the East, andcui_:_
to a crossing. The road to the left ends in a theatre, and straight ahead is the hosty

In whiclvdirection is the sch%-’"—"" ;
East (B) Waest (C) North (D) South E

¥
139, mu;ﬁ,@ﬁmamwﬁammﬁ@ammmﬂﬁm@
: ®) e

(C) et : dorgm e (D) fersieht : ¥R

In the followin : ol
g question, the words in i tain
: . ' all r a cer i
relationship. Choose the odd pair. gty Excapt one }

(A) Ink:Pen
MUSt'Vacuum 4 (B) Petrol: Car
: e
o aner (D)  Electricity : Television
F24/0/ Fooe/C ——— |
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Ifinac
ertain ¢
ode TRE
Eisc
ode
d as 7100, FROG as 21
59, how F e
! REE will be coded "

code ?
{AY” 2100
(B) 7159
(C) 31
41. et =t 2F 3w si " (D) 2159

Look at th IR I HV, GT, FR | ©°

€ pattern and co FR,EP,DN______? p
(A) KL mplete the series. HV '

(B) L™ : . HV, GT, FR, EP, L
G} X " ofh
o UgIY St e ot o et
Identi 8l
tify the figure that com
- ~ pletes the pattern.
\'*:/ A ™ O [«
( (X) (1) (2) (3) w
A 1
} ~{1) (B8) (2) c © _ (4)
13. a{aﬂqamﬁgﬁmﬂqwiGﬂﬁﬁqwﬁm&fﬁﬁqﬁawﬁaﬂﬁﬂﬁmﬂq
& wel e G uukal
In the following letter series, Some of the letters are missing which are given in that
order as oné of the alternatives below it. select the correct alternative.
| opQ NoPQNRQANC VO PR ‘
NOPQ (C) POQN (D) NPOQ

(A) QNOP

Page 121)
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. ’E;“a‘%ﬁhé’r%ﬁmm &gl

.
S

() Food },}/ Restaurant , (C) School

Exercise i
rcise is to gymas eatingis to

147. Qv Maw, onfa, aitw, =z, e, age AR ST e
mﬂﬁa%ﬁﬁﬂwﬁaﬂﬁﬁmélamﬂgﬂmﬂ?iﬁ#ﬁﬁ':;gﬂ@a%lahq;;ﬁl .
éﬁ““ﬁ“#a’m%uﬂmmﬁtﬂa%”ﬁmaﬁamm

ST AEA SRR ?
(A) onfec (B)

Devesh, Gautam, Aditya, Oom, Chand ;
who have a different height. pevesh is shorter tha‘:' Aditya but taller than g, '
is taller than Harish but shorter than Chandra. Om is shorter than Devesh butig,

Atul. Chandra is shorter than Gautam. Gautam is not as tall as Atul,

STt (©) gﬂ-‘ZT (D) A

ra, Harish, Atul, and Janvi are

Who is the shortest among them?
(A) Aditya (B) Janvi (?ﬁ Harish (D) Atul

148. ww Afga v d, 'REASON’ &1 5 3R 'BELIEVED' & 7 & &0 # &ifad fmarma g1 "oy
FTFEARFE?

25
In a certain language, f_{_égsm is coded as 5 and "BELIEVED' as 7. What s
number of 'GOVERNMENT" ?

w e /(B)/é \ () 1o>§/ (D) 1
.

149. sag@a a3 : 2,1, (1/2), (1/4), ... 3rTeht Tear sy & st =nfRg ?
Look at this series : 2, 1, (:Ilz), (1/4), ... What number should come next?
(A) 4 (B) 1/3 1/8 (o) 16

150. Frefaf@a siaen # anreht wiem @ off et : 4, 6, 9, 13,

Whi . < %
hich number will come next in the following series : 4, %; 13,

(A), " (B) 15 (€ 17 ) 18

35G- .
SG-INH-F-24/U/ F006/C R
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3675 NUmbers is 44109, ;
; (B) 3600
150 TR iy
W 1509w (B) RziozgmamﬁssoMﬂﬂmame’ 0.5
NS
If Ram buys 2 pens at Rs. 150 (C) 115 %ud (D) 145FH b (5,.
(A) Rs.150 \(B)\ . each, how much money will he get back from RS- 2%00? f
s. 250 () Rs.115 (D) Rs.145 %0

- 154. Q4
| maﬁaﬂuhﬁ%mﬁaﬁﬂqmmmzﬁ%lqaﬂmm%’

The sum of t
he two numbers is 45. If one of the numbers is -211. Wh

ﬁ number ?

. (A 250 %6 .

;; € 1 37 g

; 51 : 08, /\o // ..k

| 155, % T 2000000 T ) e 46580 T A

e affai wefi, 45789 sad # OF T HR 24769
0 & e Ry A @i sud arw e R w2 N.\
(A) 1888286%wd  (B) 18828623  (C) 2548978 %7 (D) 1824826 T A/

Ram had Rs. 2000000 with him. He purchased a washing machine for Rs. 46580, a scooter
machine for Rs. 24769. How much money was left with him ¢ 7

for Rs. 45789, and a sewi
(A) Rs. 1888286 Rs. 1882862 (C) Rs 2548978 (D) Rs. 1824826 ‘é
o\

156 ﬁnﬁmﬁammwwmﬂﬁ?’ é‘f 3/
ime ? /
: 12,24 (;j

Which of the following pair is not co-pr
(C)

at is the second

(B) 5 7 Eﬁ ool

(A) 49 : &
§ N\
chm 31581 o T @ oo e 175 8, ﬁ@ﬂmmﬂﬁm
and their LCM is 315. If one of the numbers is 175, find

The HCF of the tW

b ﬁ"'

. the other numlﬁ'er 7’L > T, = L
L w18 - i s 2
E e g} $ 3 @71’ age |1
:_5(,‘»INH-F-24IUI F00 ? & W g
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Mglaﬁmﬂ;ﬁuwmzo%&a’tmmﬂﬁm g

A
wwwmm}ﬂaﬁom (€) 120%d (D) 300%w
' (B)

iti of th
gtA) 140 £3°p 1cle for rs. 720. if the profit is 20%
rtt
er sells an a

e C.P.Findth,
® by

.120 (D) Rs.300
A shopkeep e
(B) Rs. 150
"0 (A) Rs. 140
319 9T & Wy
N— IR I F TR
3 ﬁﬁsooﬁﬁﬁ“m@m? b
159. 1 . .
g gl e @ e T htaining 1 litré 500 mi of jl.llf.'.’fE-‘:f he shared the jyj,,
; e €O ¢ i h of them get ?
% Ramu OPe“ed i t;,:my millilitres of juice will eac E(ID)
‘ How 71
r(}_ with his uncfe 5 650 ~te)._ 750 5
o (A) 600 9
3 A Sosg
¥ mﬂ:ﬁﬁﬂﬁms"“zaa' k£
L. 160. @& umber whose 8% is 128.
Find the T (&) 1600 (D) 1200
< (A) 160 (B VI
>4 : e ofe R ?
P 8 161 12356 7 6 & wria & iace value and face value of 6in 12356
- What is the difference between the p o} 2
S\ -1 _
' Uy p T |8 9 (©
|i

gk 162 uﬁqusMnﬁrﬁ%aﬁmmﬁmﬂuﬁﬁ%@mﬁﬂaﬁﬁmmﬁaﬁsomw

(A) 50 et (B) 25 frHt (C) 40 fredt (D) 80 f&H

&Y\ " If Manu cycles at a speed of 40 kmph instead of 25 kmph, he would be ablet
- | ‘%, distance of 30 km more. What is the actual distance covered by him?

\“«{ 50 km (B) 25km X (C) 40km (D) 80km

>< e
OKC& Dﬂ@-%ﬁiﬂ@#%maﬁaﬁiaﬂuﬁrmﬁﬁszomﬁmwﬁﬁmm?l .
sifiast it et g e ot e et At W SRR -

A\ 0 | o

'] m a |
(" V) Stach employee of a workshop s paid Rs. 6820 per month. Find the tot2! 52
Workshop manager per month to 92 workers.

627413
\.627440  (B) Rs.627400  (C) Rs.627444 (O -
BCINET 247G g ———— A
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164, QA EEY3 27 F ST A §1 R wiemoit w1 4 70 8, 3 8 wrem 7 AR
Two numbers are in the ratio of 3 : 7. If the sum of the numbers is 70, find th

number. [P /l
(A) 20 (B) 14 \((\ 21 (D) 15 3’ k’,‘

O o
165. 999 & uRad! R yefaeT o qurTHe @ § ?
What is the product of the successor and predecessor of 999 ? $
9999
§ d‘

AL 998000 (B) 989000 (C) 990000 §)'
W

166. 20, 48 3R 45 T TN TG FT ] ?
What is the LCM of 20, 4 and45?

640 7& 720

i at
167. a’tmaﬁmaﬂaaab%m&qa:maa o other
beris a, then t
\~ The average of the two numbers is ab. If oné nut:n i b %
TN\ 2ab -a B) a(b-1) (€ a ol
Q\U LS e der of 6 J
agaaﬂe’tﬂammaﬁrﬁmﬁﬁ 12,16, 24° 3 “l:a::ei: , remain
5 Find the least number which when dlwde 3352 16, 24, a"ﬁ \\I\-\—— (U;
in eac case. C\-/%J\ P\% e . 4 <> (D)jB uq/
=™ i — BReY/5
x = O ey
160, BT 1, B, 2, AAALE G{}? 74 7ENE =

i ttern 1,8, 27 1
The fi f" fth number in the pa1 & (c) 181 (D) ° -
A ( <

W

'Z”P _ xcvi gerd Y j
170. €DXCVIII - il )(CVIII- % . (D) 250 \b '}
subtract CDX Cax 30 N

() 98
A < @Y 100 & FETRT T Y
/m/‘ s e R 2L |
171. tﬁ‘l"f ammﬁ aﬁzvﬂﬁﬁmﬁmmgl X. Then the same whole number i
s el . aﬁxdded to 100 t0 9 t the s:mwa:oth X and Y are added. What will b
i . Y. No
number 15 2 difference L- '
A whole i 100 t t the ’ o

subtracte it © 150 (D) -10 |
the sum of tW 'Cr"(@"
(A) 100 Page |

b accannwoan F006/C
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172. 1925 x 383 + 413 x 1925 + 204 x 19

1925 L
Find the value of 1925 x 383 + 413 1925 + 204 1925 = (S 09500
(A) 195000 g 1925000 () -
aman &7 _
173. T&h Wa; m. ﬁ-ﬁﬂﬂ afiR Qﬁﬂ e Qi(ﬂl wd 2 and ertlces of a cuboid ? |
f faces, © ge |
What is the sum of the number 9 Q 18 ) 26 |
(A) 6 (B) 12 |
o ABC =11 naﬂ'\"a .
174. AB = BC 3R &1 B = g0° aral A ” —-—
(A) wnfzarg AES (D) T o7 BT
g B A = gc with AB = BC nd angle B=20" isafan:
r' 4) The type of the G 7@}\ Right- _angled triangle
& (A) [sosceles triangle s e angie
\,(_;é\rsosce]es right-angled triangle ()
ﬂuﬁ%nﬁﬁidﬂqﬂaﬂmﬁmﬁmﬁa‘? A TAF RO R AT

® (© ofwdm () s

-
% W (B) @A . .
(‘j the measures of two equal angles 1 that of a'right angle, th

When the sum of
angle measures _———

—_

) Acute (B) Right (c) Obtuse (D) Reflex

176. wﬁammﬁwmmm-ﬁ'ﬁﬁmﬂﬁ%sﬂ%ﬁﬁmaﬁ &
(A) BroEs (B) guES (C) Sfar (D) =™

A region in the interior of a circl nd pair ¢
the other side is called

(A) Sector \(B\ Segment (C) Chord

e is enclosed by an arc on on€ side a

(D) Diameter

L Eﬁﬁmmﬁﬁq*%mmmmﬁmzﬁl
akeit divisible by 3.

‘ ®) 3 © 4 /ﬂ’iﬁ.

Replace * with the smallest number in 367*3&.1 tom

;-INH-F-24/U/ F006/C
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Rs. 320
Q/(C) R 190 (D) 451

179. 3 ; s.
e & ot o
Subtract 5> . 3.7 f(‘z . o\ &_)f / ; O,
Ln/ o — <L l‘g [(“7 ok 7O/

3 = ’{( o

®) & e = , O Co [£s7.

7m\1§ -
° 1
1 ®) o Owp

1 | ' o &‘.v Eh ) -
80. T €T 2586921 & TRE g9R W &1 | i o
. ”
A number is eleven thousand less than 2586921. The number is: C\J

(A) 2575920
\(R) 2575921 (C) 1100000 (D)
g

181. g 31& : .
Eﬂmaﬂ!mﬁiﬁm#aﬂawﬁm%? O*\
ural numbel‘?

What is the difference between the smallest whole num
A 2 (B) -2 /LK (D) 2

182. qﬁqﬁmﬁ3aﬁaﬂ13nﬁﬁ$m13%nﬁaﬁﬁzzﬁ
aﬁaﬂm’mﬁgamﬁﬁﬂwmmamaﬁrﬁm _
2145 Fd (D)

(A) 2100% (B) 2106%FT (©)
m a bank for 3y

A woman borrowed Rs. 3600 fro
ave to pay after the stip

interest on the amount she ill h .
(A) Rs. 2100 Rs. 2106 (C) Rs. 2145 (D) Rs.1245

a@ﬁ@r,faﬂﬁs,aﬂ

2547893

183. aﬂqmaﬂ-axaﬂaiaﬂmawﬁﬂmﬁsm’fﬂaaﬂ ' :
The greatest numPer of 5 digits using thee gifferent digits with 317 hundred’s place is
(B) 99%93 ©(C) 99389 (D) 99999 Bj/

\@- ‘ W
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aif ST AT AT
am: i '
2.7 R 8 1 It g 7eré é wd adh ofte TR S 3 ber:Iformed using the g |

m
‘Zt’t@é Owhat is the sum of the greatest and smallest 3-4igit ™" 1

185

(}; T and 8 (D) 1110 %
CJ (A) 1050 (B) 1005 ) 1990
186. qaain?ﬂmmma}__  mgrral @) s (D) @y '-,!!_
(A) o (B) =@ @ a
Each equal part of a circle is called - (D) Major segmeny
\Q‘l Semi-circle (B) Diameter @ ¢ {
~clbo
’ A
G’of f37. 45ﬂa4sﬁaﬂaﬂzsaﬁasooﬁ?‘“a"mm(c) 9.455 #eT (D) 8450¥% |
" (A) 9.545 = (B) 9 4 5 litres 500 millilitres.
Find the sum of 4 litres 43 millilitres @ (c) 9 455 litres (D) 8.450 litres

\fN\ 9.545 litres (B) 9litres

(asar e 169 o 81 75T

ﬁaﬁmﬂmmﬂﬁqaﬂﬂﬁ*%w

> 188. I‘rgtz?arﬁa;raaﬂﬁ-”

e G & A9 9| Find the ma)(lml.lm value of WEIghtwhlchq

Two bags of wheat weigh 65 kg and 169 kg.

.........

mea

“:’
-« (4 1 (B)

189. zer & 8 @@=l a1 awi 250 fretu 8139 16 3l @l goT A hfagl
(A) 250fetmm  (B) 500 fmmm  (C) 450 e (D) 415 Rseiom |
The weight of 8 containers of milk is 250 kg. Find the weight of 16 such containers. |

(A) 250 kg NB) 500 kg (C) 450kg (D) 415kg

Z
9,
(<

190. 9 @ 10 a5t & v e wwa adt ) ggat va ary ghft ?

(A) 9 aoiaw 48 e (B) 9 wora 48 fire

(C) 9awaw 49 firme (D) 9wt 49~ e
At whaf time between 9 and 10 the hands of a watch be together ? 1
Th\ 48 minutes past 9 (B) 4811—1 minutes past 9 ‘h

(C) 49 minutes past9 - L
y (D) 49 minutes paw

35G-INH-F-24/U/ F006/C

L
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191.

192.

193.

194.

195.

196.

197.

TR v st § 7 ot Y guf & R & fag
Qe Welten &t b Rsar e i w Zf
T3 weftent =t vty fawvar s 2 & 91

If one symbol is used to represent 7 cycles in a pictogram, then how many symbols e
used to represent 91 cycles ?

(A) 11 /K)/
(B) 12 13 (D) 14 g\h

7 Siehl Y TR w W ok 6 Siwi Y waR B wEan & f @ st I AN
Find the difference between the largest 7-digit number and the smallest 6-

(A) 98999 /LB) 989999 (C) 9899999 (D) 989785 o' pe

digit number.o\

2..18
ult;é?-x— az;az% i at X_.___a;ailaﬁél
2, = 18 :
If = equivalent to = then xis equal to

(A) 50 (B) 15 (C) 14

U X : 8 ::54 : 32 F x &1 |1 T Y
Find the value of x in the proportion x : 8 ::54 :32

Al (B) 12 (0135
2396 3R 4796 & R ¥ -1470 Gl \}? | &/
btract -1470 from the difference of 2396 and 4796. /Q/ _ .
o 1456 1457 - "/ZQI()Q
930
A) -930 ) \ RO
. &%D C,tm rflu@fy\u% 8
A’QBJ/ ard -, =z oref + 3R - asre:d+%a’tz16 36+6+40%2+ m
aﬁ+mwxxm | 16 3f:i-6+c:’-~\‘;C
l . means * and - means then find the result of 2 :
If + means %, X means -, *
40 x 2 + 10. , © 245 (D) 278 QCXW
< NG
{A) 215 UD:
o % gad a9 AR sifrg dE FE ? o+
‘ 0, and 87?7 _ d
0 3k 8 &I warT CE mber formed using the digits 4 éxﬁho |
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| m@ﬁlﬁﬁ%ﬁmﬁm

R

198. T et awn e 151 F v 4% N & 7 o s EE unused for an ,

R & firg T & ""ﬁz <ed. After beingd Oy
TE, ATIHT 136°F aF hit's b ing ¥ machine cool off ? %)
A machine heats up to 151°F Whe did the D) 14°F
temperature dropspto 136°F. HOW o ‘76 15°F )
(A)  10°F ) 12°F
t ?
ars T den ?

199. Prsfaf@a d @ i & 721 per is Prime number (D) 45
Which of the following nu™ 1683
(A) 27 (8) 51

g et et HrersE R g,

ry day- How many litres of jujce does he

eachday 7 ;& () 2 (D) 25
'_(‘A'}\J (B)
Q/ -000-
sl B
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